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1. Absolute Maximum Ratings

Item Symbol Unit Min Max Note
Storage Temperature Tste °C -40 +85
Operating Temperature (ambient) Torr °C 0 75
Supply Voltage Vee \% -0.5 45
Lead Soldering Temperature
Ts °C 260
(Max10 sec)
Forward Current (LD) Irp mA 150
Reverse Voltage (LD) VRiD \/ 2
Forward Current (MPD) lemPD mA 2
Reverse Voltage (MPD) VRMPD \% 20
Forward Current (PD) IreD mA 10
Reverse Voltage (PD) VRreD V 20

2. Transmitter Electro-Optical Characteristics (TC=25°C, CW)

Item Symbol Test Condition Min. | Typ. | Max. | Unit
TC=25C - 15

Threshold Current brh mA
TC=0'C~75C - 40

Forward Voltage VF PF=PF (Min), TC =25°C 15 \%

Optical Output power Pf CW, @ITH+20mA, 25°C, kink free 25 mw

Optical Output power Pf CW, @ITH+20mA, 0°C~75C 15 mw

Optical Output power Pf FREEFER mwW

CW, TC=0°C~75°C,TX;1270nm 1260 | 1270 | 1280 nm
Center Wavelength AC

CW, TC=0"C~75°C,TX;1310nm 1270 | 1310 | 1360 nm

CW,Pf=Ith+20mA, VRMPD=1.5V,
Monitor Current IM 100 900 uA
Te=25C,

0°C~75°C, CW, Pf (Ith+20mA)@IM
Tracking Error NPf/Pf hold -1.5 +15 dB




(GVJEZETEK 12er

3. Receiver Electro-Optical Characteristics (TC=25°C, Vcc=3.3V)

Item Symbol Test Condition Min. | Typ. | Max. Unit

Supply Current ICC  HKIETO %H, SEEAT—H mA

Operation Wavelength A RX:1577nm 1575 | 1577 | 1580 nm

_ Tc=0°C~75°C (Testat

Saturation Power Psar 110.3125Ghps PRBS31 ER=60B 8 | — | — | dBm

BER<10E-3)
. Tc=0°C ~75°C(Test at

Sensitivity Sen  110.31252Gbps PRBS31 ER=6dB -30 | dBm
BER<10E-3)

Optical Return Loss ORL |A=1577nm 20 |- dB

Optical Crosstalk XTALK  (1310nm/1577nm 40 dB

4. Dimension Outline
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